$$\frac{(\operatorname{Leim}: \operatorname{Arwy cycle is a product of 2-cycles, also called transportance.}{3}$$

$$\frac{(\operatorname{I}_{i}, \operatorname{i}_{2}, \dots, \operatorname{i}_{K}) = (i, i_{2})(i_{2}, \operatorname{i}_{3}) \dots (i_{k-2}, \operatorname{i}_{k-1})(i_{k-1}, \operatorname{i}_{k})$$

$$\Rightarrow a Tyrical k-cycle
$$\frac{\operatorname{Notation}: \sigma_{ij} = (i_{j}) \quad \operatorname{tens position suntching i a J.}$$

$$\frac{\operatorname{Propositin 2:} S_{n} = (\sigma_{ij}) \quad \operatorname{tens position suntching i a J.}$$

$$\frac{\operatorname{Propositin 3:} S_{n} = (\sigma_{ij}) \quad \operatorname{tens position suntching i a J.}$$

$$\frac{\operatorname{Propositin 3:} S_{n} = (\sigma_{ij}) \quad \operatorname{tens position suntching i a J.}$$

$$\frac{\operatorname{Propositin 3:} S_{n} = (\sigma_{ij}) \quad \operatorname{tens position suntching i a J.}$$

$$\operatorname{Redecosing fam} \quad \operatorname{ter 3 \ 4 \dots n} \quad \operatorname{ter surfac}$$

$$\frac{\operatorname{Iter reduct of term reduct of a transposition subtrime evolution is a set of interval of the state of term reductor.}$$

$$\operatorname{Redecosing fam} \quad \operatorname{ter 3 \ 4 \dots n} \quad \operatorname{ter surfac} fam \operatorname{term reduct of a transposition set of term reduct of the state of term reduct of the state of$$$$

. How do we recognize a group From such a presentation ? This will be answered more precisely when we introduce normal subgroups a quotients.

Example: Let
$$G = \langle a, b | a^{2}, b^{2} \rangle$$
 (Note: ord(a)se 4 ord(b)se) 4
Then, $a^{2} = e$ gives $a^{2} = a$ e $b^{2} = e$ gives $b^{-1} = b$
(inclusion: examination on 0 or 1.
S) A Toylical element of G has the form a bala (Here have infinite
 $a^{3}, 4$ Issue with growt presentations?
A twinich growt can have a complicated presentation!
Example: (Branchaki) $G = \langle x, y | b xy^{2} = y^{3}x , y x^{2} = x^{3}y \rangle \simeq \langle e \rangle$
Why? $xy^{2} = y^{3}x \implies xy^{4} = \langle xy^{2} \rangle y^{2} = y^{3}(xy^{2}) = y^{3}y^{3}x = y^{6}x$.
 $\Rightarrow xy^{2} = xy^{4}y^{4} = y^{6}xy^{4} = y^{6}y^{6}x = y^{12}x$
 $\Rightarrow xy^{2} = xy^{4}y^{4} = y^{6}xy^{4} = y^{6}y^{6}x = y^{12}x$
 $\Rightarrow xy^{2} = xy^{4}y^{4} = y^{6}xy^{4} = y^{12}xy^{5}x = y^{12}(y^{6}x)x = y^{14}x^{2}$
 $\Rightarrow x^{2}y^{8}x^{-2} = y^{18}$
Simularly: $x^{3}y^{8}x^{-3} = x(x^{3}y^{8}x)^{2}x^{-1} = xy^{18}x^{-1} = (xy^{9})y^{10}x^{-1}$
 $= y^{12}xy^{10}x^{-1} = y^{12}(xy^{8})y^{6}x^{-1} = y^{12}y^{12}(xy^{5}x^{-1} = y^{24}y^{5}xx^{-1} = y^{27})$
Relation $yx^{2} = x^{3}y$ gives $yx^{2}y^{-1} = x^{3}$, thus
 $y^{27} = (x^{3})y^{8}(x^{3} = (x^{-1}y^{3}x)^{3} = (x^{-1}(xy^{2}))^{3} = y^{6}$
 $\Rightarrow \begin{bmatrix} y^{9} = e \\ y^{9} = e \end{bmatrix}$
Now: $e = x^{-1}y^{9}x = (x^{-1}y^{3}x)^{3} = (x^{-1}(xy^{2}))^{3} = y^{6}$

.

=)
$$xy^2 = y^3 x = x$$
 gives $y^2 = e$
But $y^2 = y^3 = e$ gives $y = e$.
To finish : relation $yx^2 = x^3y$ gives $x = e$
[NP-hand]
Obs: This example illustrates the difficulties underlying the works
PROBLETT in groups (Algorithmic questin proposed by Dehn 1911 : How to
decide if two words on a fingen. group represent the same element)